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Risolvi le seguenti equivalenze.

2,4 Hg = ................... dag

7,2 ha = ................... a

5 dam = ................... hm

5,2 g = ................... dg

0,78 ha = ................... a

5,1 t = ................... q

16 ca = ................... a

55 ca = ................... a

4 dm = ................... m

7 dal = ................... l

65 dm = ................... m

93 dam = ................... hm

50 m = ................... dam

0,052 km³ = ................... hm³

85 l = ................... dal

20 Hg = ................... Kg

9,9 t = ................... q

0,2 hl = ................... dal

6 cm² = ................... dm²

0,7 a = ................... ca
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0,64 dm² = ................... cm²

3300 mm³ = ................... cm³

3,7 m = ................... dm

0,12 a = ................... ca

180 hm² = ................... km²

35 dal = ................... hl

0,93 hm² = ................... dam²

4000 cm³ = ................... dm³

0,4 hm³ = ................... dam³

73 dl = ................... l
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Soluzioni

2,4 Hg = 24 dag

7,2 ha = 720 a

5 dam = 0,5 hm

5,2 g = 52 dg

0,78 ha = 78 a

5,1 t = 51 q

16 ca = 0,16 a

55 ca = 0,55 a

4 dm = 0,4 m

7 dal = 70 l

65 dm = 6,5 m

93 dam = 9,3 hm

50 m = 5 dam

0,052 km³ = 52 hm³

85 l = 8,5 dal

20 Hg = 2 Kg

9,9 t = 99 q

0,2 hl = 2 dal

6 cm² = 0,06 dm²

0,7 a = 70 ca

0,64 dm² = 64 cm²
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3300 mm³ = 3,3 cm³

3,7 m = 37 dm

0,12 a = 12 ca

180 hm² = 1,8 km²

35 dal = 3,5 hl

0,93 hm² = 93 dam²

4000 cm³ = 4 dm³

0,4 hm³ = 400 dam³

73 dl = 7,3 l


